Unit 1 – Descriptive Statistics (Chapters 1-6)
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Unit 2 – Exploring Relationships between Quantitative Variables – Bivariate Data (Chapters 7-9)
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Unit 3 – Gathering Data (Chapters 11-13)
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Unit 4 – Randomness and Probability (Ch. 14-17)
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Unit 5 – From the Data at Hand to the World at Large (Ch. 18-22)
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Units 6 and 7 – Learning about the World and Inference (Ch. 23-27)
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Daily 10 - Follow these TI-Tips

Tl Tips Boxplo (They are on the back of your Ch 5 packet!l)
wgmus o~ on acghny ey !

Boys: 22, 17, 18, 29, 22, 22, 23, 24, 23,17, 21

Girls: 25, 20, 12, 19, 28, 24, 22, 21, 25,26, 25, 16, 27, 22

Enter data into L1 (Boys) and L2 (Girls)

STATPLOT, plot1

Turn the plot On

Choose the first boxplot icon (you want your boxplot to

indicate outliers)

- Specify: XiistL1 and Freq: 1 and select the Mark you want
the calculator to use for outliers.

« Use Zoomstat to display. You can trace to see the five
number summary.

« Set up Plot2 to display the girls data.

~ Zoomstat will show both.
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AP Staistics Quiz B~ Chapter 7 Name.

1. After conducting  survy at a pet store 0 s what impact having pet had on the condiion of
the yard.a news reporter sated “There appears (0 be a sirong correltion between the owning
pet and the condition ofthe yard.” Comment on this observation.

s Veporie 15 Thacomeof eS¢ &re Cabegorical
“;!}xus ok (v (6o cannokipe USed !, (e Swov 14 s‘T:

an (5500 B~ \getww i
s B by OV et

3. Astudy by a prominent psychologist ound a mederstelysiong posive asociaion between
{he numiber F hours of lcep peson get and theperson's ablty 1o memorize information.
5 Explin n the omtext of tis problem wht “positive ssociation” mears.

\n ')).v\l/(d, Rope vho 150} mire
Sleep W/t oV XO memdT2, move.

b, Hoping o impro acadermic performance, the eychologit recommended th school
board allow students 0 take & nap pror (0 3ny assssiment. Discuss the pychologit's
recommendations.

Ane i\ BSchelogic 18 mistaltingy athibuhing
gesotkbion o (0USE e Chech | MoMbe inose 15 & Luris
Vw’ibrdk ﬂun«'w_ ) Assof-'a‘HM
S0 25 ot Wil cqusakion | p—
= = — =





image11.png
4. A common objective for manyschool sdministstors st increase the number of stdents
{aking SAT and ACT tessfrom tei school. The dta from esch stat from 2003 are efleced
in the scatterplot at the right.

& Wit few sentences descibing the sssoiation
) ve \:‘ moderids)negatwe,
Covve L et~ Lot yoen ua pertond 1220
¢ shadents e e
M ) c&"ﬂ‘ Fio
- r £ 1100
o W Rk T
Vo e X )

21020

SAT Scores by State:

b, Esimate e orrelaion. = e 1€ 0

6 0 20 30 40 50 60 70 80 %0

(=58 4+ -.‘50) SATPartcipation

. Ifthe point in the top let corner (4, 1215) were removed, would the correlation become
stronger, weaker, o remain about the same? Explain briefly.

V1w porn ke (41218 weee vemeveo tue
Covvalodimn  wine\d betoms & \wHAL Strange.
b (w52 At YLGIning poindt Shao & patks m W)
S\ Y \ess € calton

. I the point i the very middle (38, 1049) were removed, would the corelation become
stonger, weaker,or remain about the same? Explain brefly.

(£ (33,10ua) Were Yemovaghtae
Covv el WS Toumoin  abid ot

Sl AWGS POt A0S mok (pdedowd
O o e qaber




image12.png
Example: Using the relationship between house
price (in thousands of dallars) and house size (in
thousands of square feet) the regression model

is:

ubie
What are the units of the slope aresses

Your house is 2000 square fee an your
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Is the y-intercept of -3.117 meaningful, explain?
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Example: The linear model relating hurricanes’ wind
speeds to their central pressures was:

Predicted MaxWindSpeed = 955.27-(.897)CentralPressure

Hurricane ina had a central pressure measured at

0 millibars/ What does our regression model

predict for her maximum wind speed? How good is
that prediction, given that Katrina’s actual wind speed
was measured at et
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You look at the scatterplot to make sure it is linear. ﬁ q”
Sometimes itis hard to tell. After you do a regressiondo  ——_
a residual plot. If the residual plot is completely random,
you know your scatterplot was linear. z
The calculator automatically stores the residuals in a list e
named RESID after you run a regression. To look at them

.. STAT EDIT cursor over to RESID.

To create the residual plot ... STAT PLOT, Plot2, Xlist:YR
and Ylist: RESID
Y= may still have your regression line in it. You can either
turn it off or remove it.
ZoomStat Do you see a curve?

L —— Slido8-21




image15.png
Example: Our linear model for homes uses the
model: predicted price = -3.117 + (94.454)(size)
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c .
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1. If correlation istf—l&bwhnt isR?= 5 24isY,

2. Correlation coefficient = "
(what variable?)
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The lengths of individual shellfish in a population of

10,000 shellfish are approximately normally
distributed with mean 10 cm. and standard
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shortest interval that contains(4,000 shellfish @’n’
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A least squares regres@'s)n line was fitted to the weggts (in
pounds) versus age'(in.months) of a group of many
young children. The equation of the line is

e 16.640.656 aen)

Where yis the predicted weight and t is the age of the child.
A 20-month-old child in this group has an actual weight
of 25 pounds. Which of the following is the residual
weight, in pounds, for this child? Y:-LS
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L. Which of the following is a key distnction between well designed experiments and observational studics?
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